Handrim

20" & 24" Wheel Only

THE PRODUCTION OF THE HTR IS CURRENTLY SUSPENDED AND SOME SERVICE PARTS MAY NOT BE
AVAILABLE TO ORDER.

For use with 24” Handrim For use with 24” Handrim
with Welded Studs. without Welded Studs.

For use with 20” Handrim.



Handrim

20" & 24" Wheel Only

THE PRODUCTION OF THE HTR IS CURRENTLY SUSPENDED AND SOME SERVICE PARTS MAY NOT BE
AVAILABLE TO ORDER.

Quantity Per
Item
Number | Note | Part Number |Description Package | Assembly
1 H,l 1027413-NLA | NLA - Handrim, Chrome, 6 PT (24" Wheel) 1 1
1 1125209-NLA | NLA - Handrim, Steel, 6 PT, Grey (24" Wheel) 1 1
2 D,J 1026750-NLA | NLA - Screw w/ Washer (#10-32 x 7/8") 1 6
2 1007375 Screw, Phillips Pan Head w/ Patch (#10-32 x 1-3/4") 1 6
3 AB,F 430056 Handrims with Hardware, Chrome, 12 PT (24" 2 1
Wheel)
3 G 1125211-NLA | NLA - Handrims with Hardware, Steel, 6 PT, Grey 2 1
(24" Wheel)
4 E,F 430051-NLA NLA - Handrims with Hardware, Chrome, 7 PT (20" 2 1
Wheel)
4 E,G 1125213-NLA | Handrims with Hardware, Steel, 7 PT, Grey (20" 2 1
Wheel)
5 F 1019999 Handrim, Chrome, 7 PT (20" Wheel) 1 1
5 G 1125212-NLA | Handrim, Steel, 7 PT, Grey (20" Wheel) 1 1
6 C 1007375 Screw, Phillips Pan Head w/ Patch (#10-32 x 1-3/4") 1 7
7 AC 1016438 Spacer (1/4 x 11/32 x 15/16") 1 7
NOTE: - Not Shown.

A

B - Includes (2) Chrome Handrims, (12) Screws item #6 and (12) Spacers item #7.
C - 20" Wheel Only.

D - For use with 24" Wheel with Welded Stud Only.

E - Includes items 5 and 6.

F - Before 1/24/05. For use on chairs with "Chrome Frame Finish."

G - After 1/23/05. For use on chairs with "Grey Frame Finish."

H - Includes (1) Chrome Handrim and (6) Rivet Nuts.

| - Use with 24" Handrim without Welded Stud.

J - No Longer Available, Replace with 1007375.




